
ДОМИНО 5 КЛАСС 

0-0 0-1 0-2 0-3 0-4 0-5 0-6 

Проверить пример. 
Например:  

два цикла длины 5 
с одной общей 

вершиной 

9876543120 1 16 
11 часов  
40 минут 

 

3 

 1-1 1-2 1-3 1-4 1-5 1-6 

 30 12 18 от 36 до 44 9.51 3 

  2-2 2-3 2-4 2-5 2-6 

  21 1111111 33 
Проверить пример. 

Примеров много 

любой из вариантов 
235193*2=470386 
239153*2= 478306 
467806*2= 935612 

   3-3 3-4 3-5 3-6 

   
За 5 щелчков. 

Проверить пример! 
14 62 5; 7; 9; 11 

    4-4 4-5 4-6 

    20 91 

Проверить пример. 
Например: 

 

6-6     5-5 5-6 

10 
(или последнее) 

    от 5 до 14 
18 ладей.  

Проверить пример! 

 


